1% [This question paper contains 08 printed pages]
% THTT I H 08 Hiad IS &
Roll Number / T qa<:
HPAS Etc. Combined Competitive (Main) Examination, 2019
.00, o< 64 STaanT (&) T<reT, 2019

Commerce & Accountancy-I / FIHE U UHTSEHI-1

Time Allowed: 3 Hours Maximum Marks: 100
AT qHA: 3 5 sferha 3t 100
Note / ATe:
1. This question paper contains total eight questions.

TH T T H T A8 T &

2. Attempt any five questions including compulsory question No. 1.
A aTd 7o Ja< 1 giad gl o TI7 & 3L <ITor |
3. Each question carries equal marks. Marks are divided and indicated against each part of

the question. Write answer in legible handwriting. Each part of the question must be
answered in sequence and in the same continuation.

AT TST F T 0 21 9T F oty g % 91 ¥ wekw 9 F fawg i e
AT g1 3Y +0E forEmae # e W o Todsh AT &7 397 ST w7 H (<37 ST AT Ul

4. Attempts of questions shall be counted in sequential order. Unless struck off, attempt of
question shall be counted even if attempted partly. Any page or portion of the page left
blank in answer book must be clearly struck off.

ST o I w0l TUMET HATTETE Al SITOIT| TS FTeT Tl @, AT T 6 IAL o0l TUMET %0f
ST =72 g I Serd: T T 2n 39 Fedet § @reil SISt gal I8 a7 I8F (9T i

Y B H FHT AT A2
5. Re-evaluation / Re-checking of answer book is not allowed.

SALTEART o TR [ T ST 6l AT ol 2

1. A comparison between Net Present Value (NPV), Profitability Index (PI) and Internal
Rate of Return (IRR) shows that NPV is the best capital budgeting analysis technique
because of its conceptual clarity and methodology of calculation. Explain with the help of
the following details available in respect of two investment proposals: (20)

7 ISiE g (TG, TihefaferdT Sea (f1es) 3T T23 e 32 oiF e (ArEaemn)
& A= QAT F TqT qAdT g T TATET 99 JATE TEAT ST 0T shl HIEAAOTAT 6
FROT GS(T asfe fAEuor it a9 s=at ThA® gl &I [ J&=qar & qa9 § Iurse
frferfera feaeont it agrar & aussu:
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Projects Cash flows (%) NPV P IRR
SER I e R) @10% | stfefaf | 57T
Year 0 Year 1 Year 2 T > I AE
T5 0 T 1 T 2 @10% fee
X 10,000 7,000 6,000 ? ? ?
Y 1,00,000 60,000 60,000 ? ? ?
2. (a) “Detection and prevention of errors and frauds is the secondary objective of

(b)

3. (a)

(b)

independent financial audit.” Do you agree? Explain in the light of some landmark
judgment. (10)
AT ST ATETIET T ST 3T UHATH TGS AT AT TEHEAT FT AT 32T 21"
FAT AT HEHA &2 T UldgTaeh [0 o TH1eT H T H7|

Discuss the qualifications, disqualifications and duties of a statutory auditor as per
the provisions of the Companies Act, 2013. (10)

FOAT AT, 2013 F TTALTAT 6 T U AT @7 TLHEAF sl T,
FATIAT 3T FdAT 9L T4 Fi7

Explain the elements of ‘Accounting Cycle’?

GT =5 ' qdl T ATEAT FHloTu?

The following is the Trail Balance of Ms. Gauri Traders as on 31 March, 2020. You
are required to prepare Trading and Profit and Loss Account for the Financial Year
2020, ended March 31, 2020 and the Balance sheet as on that date after making

(15)
AT T g6 &7 Fgr =gr 31 A7+, 2020 TF 21 TR BeA1077 4% 2020 F o
AFLTH THTATST FlA o qT% ATIAETAF GTAT (ST FHT32) T ATH ST g
GTaT (TIThe UT AT THRT3e) TATE HA ! MFTFRAT g 3T 31 AT, 2020 Ff st

(T ofte) T T FAT B

()

necessary adjustments:

Particulars Debit () | Credit ()
RER R | #EEE)

Sundry Debtors (faferer T9=T) 5,00,000
Sundry Creditors (fafarer a=T) 2,00,000
Outstanding Liability on account of printing and
stationery Expenses 55,000
HEUT ST TN @A o HILIT TRTAT STd]0
Wages (FSTET) 1,00,000
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Carriage Outwards (ITELT 9TET) 1,10,000

Carriage Inwards (3Tah HTST) 50,000

General Expenses (FTHTT @) 70,000

Cash Discounts (7@ <) 20,000

Bad Debts (o 30T) 10,000

Motor Car (HTe< FTY) 2,40,000

Printing and Stationery (TS 3T o&= ATHIH) 15,000

Furniture and Fittings (Fri=< 3T AT (TRfEm)) 1,10,000
Advertisement (F3=Taw) 85,000

Insurance (F14T) 45,000

Salesmen’s Commission (HeHH T FHTI) 87,500

Postage and Telephone (ST 3T ZATHIA) 57,500

Salaries (3d) 1,60,000

Rates and Taxes (3% 3T ) 25,000

Drawings (ATg <) 20,000

Capital Account (ST @TAT) 14,43,000
Purchases (@¥1%) 15,50,000

Sales (far#T) 19,87,500
Stock on 1 April, 2019 (1 39T, 2019 T F=i) 2,50,000

Cash at Bank (a5 ¥ Tad) 60,000

Cash in Hand (T & Ta) 10,500

Total (ITT) 36,30,500 | 36,30,500

The following adjustments are to be made:

erferfaa aaTse e S 8

(1) Stock on 31* March 2020 was valued at ¥7,25,000.

31 /T 2020 T F=i T o 37,25,000 =TI

(2) A Provision for Bad and Doubtful Debts is to be created to the extent of 5 per

cent on Sundry Debtors.
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4. (a)

(b)

€)

(4)

()

(6)

(7)

(8)

)

fafare <9 9% 5 Ifqerd &t HHT % Saq T Hieve K0T (JF 37 S[3ehd
TT) FT ITALTT AT ST

Depreciate:

EINE

Furniture and Fittings by 10%

AT ST RIS - 10%

Motor-car by 20%

HIET-HTT - 20%

Ms. Gauri had withdrawn goods worth 25,000 during the year.

AT T 7 a9 & 0 325,000 T F ATHIE ATIE o o0 2

Sales include goods worth Rs.75,000 sent out to Kabir and Co. on approval
and remained unapproved on 31* March 2020. The cost of these goods was
Rs.50,000.

ot # 75,000 T FT AT ATHHA g ST HAIY UL FHOAT o6 IT6 HLT 6 (o0
HSTT ST AT 37T 31 ATH 2020 FT ST LTI ST TTHIAT a0l AR 250,000 21

The salesmen are entitled to a Commission of 5% on total sales.

HAHT FeA Telehl I 5% FHHII % ghaTe gl

Debtors include 325,000 bad debts.

SRR H 325,000 TAT ST ATHHA &

Printing and Stationery expenses of 355,000 relating to 2015-16 had not been
provided in that year but was paid in this year (during 2019-2020) by debiting
outstanding liabilities.

55,000 FT X7 T @ AT (2015-16 & HATerd) ST a9 T&TH Aol 10T
AT 9T, e =6 a9 (2019-2020 F ZXTF) THTAT IAGTIT T AIATT Hih

AT AT T om
Purchases include purchase of Furniture worth 350,000.

T | 350,000 T & Fe (9L f @I ATHA 2

Differentiate between Del-credere commission and overriding commission. (4)

TA-FHSL FHII 3T SMATITS T FHIT & 41 Aqe¥e Fiford|

Shyam consigned 40 machines to Ram on 1 January 2018 on the following terms:

AT 7 1 TIT 2018 T ITH FT 40 7O =)

(1)

All machines were to be sold at 20% above the cost of X10,000. Any deficit in
selling price is to be borne by the consignee, while the latter (Ram) is allowed
to retain 50% of any surplus price realised.
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5. (a)

Tt T =T AT $10,000 FT ARMT T 20% FAL =T AT A1 FFovT o | F:E

FHT HHTSAL GIT dg il ST g, Sateh T &l I8 70 70 Gt ofF srfafs
T FT 50% FATT 7@ Al ATAT B

(i) Ram is to be paid 3% commission and 2% del-credere commission on all
sales.

TH W gt TR 9% 3% FHIOT ST 2% SA-HSL HHIMT FT SEAE AT
ST 2

Consignor incurred freight charges of 340,000 in consigning the machines.
HMT T & | FHTSAL 7 240,000 FT ATET AT

Ram sent ‘Account Sale’ on 31* December, 2019, disclosing:

9 7 31 feHa7 2019 F1 foft "rar 9«

10 machines were sold @ 212,000 each
10 7T == 72 off 212,000 T 7efi it a7 1%

5 machines were sold @ 10,000 each
5 7ofie a=h € off 210,000 I7=F wefim M av ow

15 machines were sold @ 314,000 each
15 wefta =t T off 214,000 T¥F wefiw iy e uw

Consignee incurred unloading charges of 34,000 and selling expenses of 36,000 out
of his pocket. He collected the entire sale proceeds except 32,000 which had
become a bad debt. He sent a Demand draft for the net amount due to the consignor.

FATSAT T 4,000 FT AFANST e AT 26,000 T Toht = o+t S &
Ieaid 2,000 T FISHT ST UH ad KT a9 AT T, T fasht Tfr ok $i i
TERTAT 9 3 o 9779 =7 BHTE 319 9=l

On 30™ June 2019, consignee sent a further ‘Account Sale’ for 10 machines sold @
12,000 each. Selling expenses were 21,500. He subsequently sent a draft for the
net amount due.

30 ST 2019 T, FETeAT T 10 FfT & feoreht & foeht =rar ' w=m &5t &= 21,500
| TG § IO THAT LF A % 77 9719 F°1 U fHiw gre 9=t

Consignor closes his books on 31% December each year.

FHTEAL g AT 31 fada< &7 Ju«T fordTel 975 F7 2T 8l

Write up ledger accounts in the books of Shyam recording the above transactions.

9FTH o TETdl § ST -3 &l (19T

The profit-volume-ratio (PVR) of a firm is 40%. By what percentage sales revenue
be increased respectively to offset 10% reduction in selling price and then 20%
reduction in selling price. (%)
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T HH T ATH-Tao0 -3 AT (TAT3T) 40% 71 FEwT o7 | FHL: 10% 3T 20% i
FHT 3T ALATS o [o1T Teehl-Trored H Fohae Ifaerd gia Aaed= g

(b)  The standard mix to produce one unit of product is as follows: (15)
ITATE T Teh THTS T ICATEA FHLel o (o7 qTh 07 HH a2

Material A 60 units (@ 15 per unit =3900
AT A 60 THEAT @ 215 9T THE =32900

Material B 80 units @ 20 per unit = 1600
ATRIT B 80 THEAT @ 320 T A = 21600

Material C 100 units @ 225 per unit = 32500
AIRT C 100 THEAT @ 25 9fd I = 32500

Total 240 units = %5,000
T 240 THTIT = 35,000

During the month of April, 10 units were actually produced and consumption was as
follows:

A o Wl h < aread | 10 THSAT IcATad @l T2 AT ST guq =6 T =T

Material A 640 units @ Z17.50 per unit =311,200
AT A 640 THTAT @ 217.50 I 12 =311,200

Material B 950 units @ X18.00 per unit =317,100
ATRAT B 950 ToT2aT @ 318.00 Ifd s1s =317,100
Material C 870 units @ X27.50 per unit =323,925

AT C 870 THTAT @ 327.50 Ui THTS = 323,925

Total 2,460 units =352,225
T 2,460 THIZAT =352,225

Calculate all the five material variances.

AT Tf= AR = (ferarst) i TomET w2

6. A product passes through 3 processes. The following cost is given below: (20)
T IATE 3 TRATAT & oI gl Mefeigd anrd |1+ &f 1% &
Particulars Total () Process 1 | Process 2 (X) | Process 3 ()
IEERI F AW ®) g2 }) | WEEET3 (R)
®) EIERIBNGY
Direct Material
_— 2 8,482 2000 3020 3,462
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Direct Labour Output

12,000 3,000 4,000 5,000
Tl qH IHTad
Expenses (direct)

726 500 226 ---

Production Overhead

6,000 ? ? ?
S IEN B IE RS
Normal loss
ATHT BT 10% 5% 10%
Sale price of Scrap per unit 3 s 6
T T AT e &l o7

(1,000 units @ X5 were introduced in Process 1)
(TFAT 1 T 1,000 THTEAT I5 6T 37 T T1 f7 2 =fF)

Production overheads is allocated to each process on the basis of 50% cost of Direct

Labour.

ST AT ST T TTHAT I TAE A7 &l 50% AN LT T AEfed 6 ST

2l

Prepare necessary Process A/c. Also calculate cost per unit for each process.

ST THAT oI TATT Fix | TAF THAT o o0 T A ARTT i A IT0ET A7

. ()

(b)

Taxable income of an individual assessee (55 years) is 35,15,000 for the previous
year 2019-20. Calculate his tax liability for the Assessment Year 2020-21. (4)

UF =1=F (55 W) T T T 0 fO=er a9 2019-20 F forw 25,15,000 g1 s
T 2020-21 F T IEEhT FT 74T Y TET FL

Ms. Riya (30 Years) is a general manager of a private limited company at Mumbai.
She was appointed in the Grade of ¥34,000-1000-50,000 on April 1, 2013 (salary
falls due on the last date of each month). Besides, she gets 36,000 per month as
dearness pay which does not form part of salary. She had also been provided with a
rent-free unfurnished house whose lease rental value is ¥70,000 per annum. She has
also been provided with the facility of a gardener, watchman, and personal attendant
who are paid by the employer at the rate of 212,000, X15,000 and 18,000 per
annum, respectively. Ms. Riya uses company’s car for official purposes. The house
provided to Ms. Riya is not owned by the employer. Ms. Riya and her employer
contribute 16 per cent of salary towards the recognized provident fund. Ms. Riya
gets prize of 290,000 (being winning from camel race) and bank’s interest of
%4,00,000 (i.e. fixed deposits interest: 33,71,500 + saving bank: X28,500) during the
previous year 2019-20. On January 20, 2020, Ms. Riya transfers bonus shares in
TCS (held since 2004) for %8,23,000. Besides brokerage @1 per cent, she pays
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8. (a)

(b)

securities transaction tax (STT) of 823. Determine taxable income and tax liability
of Ms. Riya for the assessment year 2020-21. (16)

=it fam (30 =) qas § v fAsft forfaee st f agraaers g1 s+ 1 379, 2013
FT ¥34,000-1000-50,000 F I= # fAg<w FFam AT o7 (F99 TA® ma A faw
e =7 7 graT 8)1 TEE AT, 3I° 26,000 I A1 HeTe A o w9 H [Herar g

ST a1 @80T 98l a9ar gl 39 Ua haar-Tiga qur =% ot yare fohar s o,
T 3T g7 270,000 ITAay g1 36 T AT, AT, ¥ AR I=mH

T gragr A Tq= A ATt g, Se FERRT g & 212,000, 215,000 ST

218,000 T a9 it 3T & I f=6ar Srar g1 gt {7 snfeenfiar sgeat & form
FAAT T AL FHT ITART FHal &1 G F7T F° J@= = =1 =2 [a=wr &1 7657 2
Tt R 3w 39 AT F A=A -y wiasy [fe (s O uw) F o aae
16 wfaerd arree fear g1 geft far v fO=er aw 2019-20 F = 290,000 FT
TER (T2 3E | SadT) T 24,00,000 FT §F SATST (AT ATATET STHT AT
33,71,500 + F=q d% AT 328,500) FHerdr g1 20 S=a<r, 2020 &1 gt fAr

28,23,000 H U F TAE AT (2004 T ATITIIT) FATATALG FLdT 1 FATAT @1

TTTerd & AT, a8 TIASLd e HiT (THASIET) T823 T SFIATH FHedl gl AThead
¥ 2020-21 F o g=ft R it #7 T7 o 37 F: a1 [aiia F:7

Examine critically role of customs in international trade. (10)
SATTE AT H HAT oo a0l THIT IR AT ST Al
Enumerate and explain kinds of ‘Customs Duties’ in Indian context. (10)

AT §2H H AT o 6 TR 0l TOET 37T ATEAT F2 |

skokskokosk
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